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51. The number of elements in the power set of the set A where A= {0, 1, 2, 3} i
A= {0, 1,2, 3) sonsipd, A Quos), 38 3006 Sareso Mops

(1) 4 @) 8 @ 16

52. If A, B are two sets such that n (A) = 20, n (B) = 35 and n (A 8] -
n (A) =20, n (B) = 35 5800 m (A W B) = 45 eclytotss A, B o0 3o Wyiooxd, n (AN B) =

@ 10 2) 100 3) 55 (4) 65
53. If N is the set of all natural numbers and if A= {x e N \/ 1, then the number of elements
in A is equal to
N o0 Sredornyind 2000 A = (x € N|x2 + 1(& 5200 A 69 Soreso iows
(M o
(3) 2 infinite (esctsus)

54, Let N be the set of all natural numb ton defined on Nby R = {(m. n) € N xN|m
15 a divisor of n}, then the relation E

MWEMNELE

& Saoao R
(2) Symmetnc, transitive but not reflexive
2riso, SoEiioo, 50 SOGE0 5D

@ Reflexive, trangiii Ve ] (4) An equivalence relation

. . &5 ooy Howedo

55. IfA={l, 2,3, ich one of the following relations on A is transitive?

A= {1, 2430} @hosd, 5250 A 1 208 sosomred” DB Mo sosado ?
) AN, 2), (1, 2), (2, 3), G, 3)) () {(1,2),6, 1.0, 1,6, 3)

A
2), (2, 1), (1. 1)} @ (1, 1,(1,2), 22, 3, 3)

[P.T.O.
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$6. Let R be the set of all real numbers. Let g : R > R be a function defined by g () = x2 + 7 for

all x € R. Then the function g is
R &30 55 Sowyidod, o8 (hato g : R+ RIBSxe R, g =2 + 1w Adh ©

o S
(1) Onec-one, but not onto (2) Onto, but not one-one
o, 5™ oo 5 030, S Eilsto T @
(3) Both onc-one and onto @Hﬁﬂmmm
eRdsSo oo Hoyie Getiio 5%,
In the group, (Zg, +g) of residue classes of integers modulo 8, element 6 is

a7,

39.

8 Sriior fo gose eSS Biue Siardro (Zg, +g) 6 Sureso

(1) 1 (2) 2 @) 3 @ 4

If'hmmmmu&:mZuf@vm‘n-m+n+TI.1|'|I

m, n € Z, then the identity element in the group (Z, *}+

Trgose 58 Z P &8 ooy S0da * 3, $O m, 2 tn-muﬂn-m'g,m
)y -7

(Z, *) &' BiyS sareso {
(1 0 @) 7 ;“’

@) - 14

Let Zj3 be the set of all residue classés.oMintegers modulo 12. Then in the group (Zya, +12), 2
solution of the equation 4x + 7

12 SrSom Ao Yrgoso esis SBRpD B0 Z); sond, 3500 (Z),, +p) &' Ssdno
4x+7 =3 Se8Gs

() 10 s 3 3 @’E

Let S, denote the utations defined on an » element set. Then in the group (Sg, 0),
4215023 6 8) =

S, S0 n SardeNGs) D Asdos Mo Edroroded 58 efomre, Sardo (8g, 0) &
(4215042345

56 7 8 [|134sa1s]
517 4 DIl32684175
56 7 8

4175 4) (13260(458)
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61. Let Q" be the set of all positive rational numbers and (Q", *) a group where a * b = “3;*' for all

a.beQ'. 15! denote the inverse of 5 in (Q, *), then the solution of 4 * x = 5~ in the group
@, M is

&uﬁ&hﬁmqmq+ﬂfmmwmbsq+ia'b= ?mm

SSaro. $4 SSarrod® Sareto 5 s, 38%rn 571 8 50l S5 (Q, * 513
PGS

27

li 32
M 3 = ) 3

62. If (G. .)is a cyclic group and if 0 (G) = 12, then the numbe;
(G, . )e8 Sdabh S5urare, 0 (G) = 12 sad 3urdro G ¢

@ @ s ®
63. Let M be the set of all 2 x 2 matrices over the set of al
and matrix multiplication (+), the ring (M, +, +) i
WW@I!IWMH&%

Sy, Seado (M, +, +) o8
(1) Commutative ring with unity g Commutative ring without unity

@Hmmmﬁwﬁngwiﬁmﬁty
B0 &, Dako 59 Seako

64, classes of integers modulo 4, the zero divisors are
m{qu_+d',‘}é‘ﬁ;5;m
(@ e @ {3)
65. If Zg is the s rﬂidmdmnfimmnduhﬁ.'lhmlhenlﬂﬁﬂﬁﬂfi in the ring

roste eSEY BOABe O Z, ©ond, SeaXo (Zg, + ¥g) & 2 s,

[P.T.O.
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66. Let F = {f]/is a continuous function from [0, 1] to R} and +, « be pointwise operations on F. Then,

in the ring (F, +, -}.ﬂmmﬁ{fil‘"lf[%)=ﬂ] is
F={f]fe38 [0, 1) 5ol R © .5 6Dy Shabo) Sodake +, « 0 F p Bot 563

Mm.mmmh-}ﬁ‘{feﬂ_r(%]ﬂ}uﬁm @
(1) A sub ring, but not an ideal (2) A left ideal, but notari
&8 &5Se0o, S editho SR e D estitho, T £4

@Anidﬂ] (4) The empty set ($) @O

67. A Boolean ring is always
e.5 erahs Socko Jogpar
(1) a field comimutatiyé ring
(3) an integral domain ve ring
e Jrool o Seco
ﬁa; Which one of the following is an irreducibl al over the ring Zg of all residue classes of

integers modulo 9 7
9 SrSom Mo Yoo ¢ES ® 36 edn oo Da?
@) 2 +3x+3 @ 2P0 ) Ae&-3 (@) 2+5

69. In the ring (Z, +, +) of all int ch one of the following is a maximal ideal?
Jgose Seako (Z, +, +) 8, SHIBS 8t D07
mo SOk () 9Z (W) 5z

70. Letgbea the ring (Z, +, +) of all integers to the ring (Z)2, +12, *12) of all
residue classes of.; modulo 12, defined by g (n) = 7 for all n € Z, where n = r (mod 12) and

0srsll. of g contains

zwvs% , +) 008, 12 Sridom Mo YrEose eiES BEve Soabo (Z),, +12 ¥12) B,
Z20g (n)= 7, n=r(mod 12) 3o 0 < r < 11, eclytey g o8 S0rds efomo.
mshww&aﬁnm

(2) 6Z @/ 242 (4) 40Z

1)
oY
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71. Iff(x)=2¢* + 3x + 4 and g (x) = 4x* + x + 2 are polynomials over the ring (Zg, +3, %g) of all residue
classes of integers modulo 8, then the degree of the polynomial f(x) - g (x) is
§ Srom Ao Srgose eSS B8N0 Seako (Zg, +5, Xg) B S (x) = 2 + 3x + 4 Sodaxw

g{x}-4x1+x+2m , BES0 f(x) + g (x) Aos), B |

0= {(a, b)) € R x R | @ is an associate of b}.

Then the relation 0 is O
[R +, «)0 &5 B0 S0 Koo Seabo exbSomro. R p et 0

0={@ab)eRxR|bSa 55550 %//

1) 4 3 3 4) 1
(1) (3) ) @
72. Let(R, +, .)be a commutative ring with unity. Define a relation 6 on R by @

™ lotod. et Sowodio B Q-)
(1) Reflexive, symmetric but not transitive (2) Sy ‘% wsitive but not reflexive
SorsGe, Ao 5 HoEoo S o, Bioo 50 Sonsdo S
(3) Reflexive, transitive but not symmetric \‘ 1 equivalence relation
SrSEo, ot 50 AR S ¥ Boe; Howodc
v/
73. Let (R, +, +) be a ring and I an ideal of ient ring R/1 is a field then I is
(R, +, )ummnﬁ‘[)‘g D0y, Seabo R/ e §fo wond, ey
@’Am:m:lldﬂl
0.5 0058 680
(4) Equal to R
R § 5870

F=;1-1+4 are polynomials over the ring (Zg, +¢, %) of all residue classes
gcd. of (f(x), g (x)) is

iSE B0 3000 (Zg, +4 X6) BS(X) =X + 5x 5000 g (x) = ~x +4

(2) x+3

@

[P.T.O.
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75. If ¢ is the Euler function, then ¢ (210) =
$ 630 ©0x0eb (Euler) (Soako soxd, ¢ (210) =

(1) 105 2) 9 (3) 64 \@43 %

76. The number of all divisors of 3150 is @

3150 oos, Doolio Lo 50w

(1) 7 @/3& 3) 18 @
77. The largest positive integer  for which 6" divides (360)! is @O

(360)! 2 6" eriodeey n s, MO GRSITroY Deoss ®

m 7 (2) 89 (3) @
'ﬂwmnin&uw’lm?“si;dividndhyﬂis @

MM : Tilﬁnsﬁﬂ'ﬂ‘ﬂ%h *** Add Score * * *

AL (1) 1 (2) 3 ® ) 6
79. A solution of 7x = 2 (mod 13) is %
Tx =2 (mod 13) & 28 35S
M 1 _

(4) 12

4) 9

(4) Three
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82. If ¢ is an arbitrary constant, then the general solution of the equation ydx - x dy = 0 is
€ 2.5 QNG H00E eonsd, ydx - x dy = 0 55000 A, PO A0

@;-
y ¢ (2) x+y=¢ %
) o =c @ x-y=c @

83. The solution of the initial value problem x dx + ydy = 0, y (4) = - 3 is @
&og Sareg S x d + ydy =0, y (4) = - 3 oot ey

O
(1) = 2552 @/J"*st ®
(3) y*=5x (4) 4?-—@
84. I W (fy (1), f3 (x)y v fiy () represents the '

W (x, cos x, sin x) =

W () 0,/ (), - fy (X)) 638, f} (), ., Sy ()

Ji (%), .y S (x) then
(Wronskian) eoxd, wipe

W (x, cos x, sinx) =
@x (2) cos x %m: ) 1
hnin-teg:tﬁngftﬂurufthtdiﬁnmﬁﬂ ydx + xdy=0is
ad es3sei 38000 2y d + xdy=0 Forasias | " Add Score ***
o
gt My 2) (3) @) »*
86. The particular integral of teé dHlerential equation (D - 5D + 6) y = €7 is
e3%035 388860 (D2 - 5L Do, B S8P80D
<~' !
w3 @ / Tl @ -3

b }mm:m:%uﬂlmxmﬁwm

s (2) e ®) log (ogx) (@ os

= [PTO.
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88. ﬁcg:nuﬂmtutiunﬂfﬂuuqmiuntbz+9}y-m3:is
(D? +9) y = cos 3x 350800 dlog, ity JSSw

(1) y=A cos 3x + B sin 3x (2) v=Acos 3x + B sin 3x + x sec

x
(3) »=Acos 3x + B sin 3 = sin 3x @?-amhwﬁnhdrz il
(Here A and B are arbitrary constants.)

(3%,6 A 50010 B oo are)ins hoorbes.) @

89, Withlhcusualmtntiﬂn.ifpz—'rp+12=ﬂ.nﬂp=£ then its soluticits_()

dc’
mmw.p=%ﬂﬂﬂupz—?p+ﬂ=ﬂwﬂ. 3
@L\:-]:wr}ly-ir-r}=ﬂ (2) (v+ x-¢)=0
3) (y+Ix+)(y-4x-¢)=0 (4) @@d-h-ﬂ'ﬂ
(Here ¢ is an arbitrary constant.)

(35,5 c 5 e ) @;

90. The particular integral of the differential ~4DY) y=5,is
S50l Soseo (D7 -4D%) y = 5 s,

square matrix A is 5 and nullity of A is 3, then the order of that matrix A is
G5 A dlaog), 5% 5 So0ak A dlosh, Eristieion 3 sond, & St A dlug), S85rmo

) 3 @) 5 @a
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53
Thecigeuvﬂuesufth:mu:rixhn[J 5]-1:

53
ma-[a s]d.hﬂ:,aﬁ:uﬁm

(1) 88 @s.z (3) 8,3 @) 5,3
I~ 3 ~1
The product of the cigen values of the matrix A= -2 0 0 | is
v by 4 5 0 .

SrO¥A=(-2 0 n}mwﬁmw

4 50
(1 o @1 (3) - 10 0
IfAisa3 * 3 matrix and |A| =2, then |3A | = @
A s 3 %3508 Sdako |A]=2 eaxd, | 3A | =

(1) -54 (2) 6

If A is an n * n matrix and rank of A is r, then th
homogeneous system of equations AX = 0 is

REOOY IEBo SoPy

() r (4) n

G A=A @ A=A

(3) 1 (4) 0

[PTO.
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99. Every matrix A of order n x n and rank r is equivalent to the matrix
500 1 % n o0 5% r SDAS PO SM9F A; 4 SMOED0 Boop

@) [15 E} @) [1{. E] G) [I'{; ' ?] @) (AF %

100. The system of linear equations @

x+y+z=0
2x+y—-2z=0and
3x + 2y = 0 has
x+y+z=(, O
2x + y =2 = 0 Sobaollw
Ix+2v=0 ®
o D 500 SDaseTe Sps

(1) Mo solution
G B ;
Infinite number of solutions 4L Oty frhiite number of solutions

101. If A is a square matrix such that A% = A,
A% = A sdlogtotss A 65 B0 S8

(1) A (2) I (4) 3A

102. The necessary and sufficient co the system of linear equations given by AX = B to be
consistent is
AX =B 30003 DY 300 DOSET ot e SO Aaiie
(1) The matrices A f the same rank
A SobaXs B £ 5B dod

@/m ' [A | B] are of the same rank
Sd% [A | B] £ 63 500 docd

i 'gﬁlnd[f‘]ﬂ]mufdwmmk
A o000 3@s [A™! | B) e £%30 500 éomd

matrices A and [B | A] are of the same rank
g A So0ate 3% [B | A] &3 5 50N od
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103. The valee of A for which the system of equations
X+2y+ 2=
x+y+2=Ay

xx+Yytz=)z
has a non-zero solution is @

x+2y+3z=)x

Ix+y+ 2= Ay

x+3y+z=iz @
ShoStero 555 8 HdBS s A doeod, A Jess

(1 3
(3) §

104. If W is a subspace of a vector space V (F) then the quc

(3) (w+V.we W)

105. In the vector space R'?) (R), the
R R) sasosoeed, (1, 1), (1, 2)

(1) Are linearly dependent @Fm-huis
Soe Somisiion 8.8 SCTORANT XHEDrOD

(3) Do not span R® (R @7 (4) Do not form a basis
RHI(R}QE&@ &8 asgreioon D)
106. Let W be a givenby W= {(a, b, ¢, d):a =d b = 2¢)}.

Then the dim IS
RY @y, WOW={(a, b c.d):a=d b=2c)) o2 g espo W dloti, S05reaios
(1 1 2

( 4) 4

[PT.O.
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107. LctT.:quﬂzde;:Rz—rﬂzbﬂimmﬁmminmd:ﬁndby

Ty (x. ». 2) = (3x, 4y - 2),
Ta(x») =(x))
Then (T20 T)) (x, 3. 2) =

bayre Srdrosdeaes T) : R® = R? 5000 T; : RZ - R? % T) (x, 3 2) = (

TE [I-}’}EI-I,_F}WW M{TIHTI]{_;JJ' I]'ﬂ
@ 3 9-2 2) (3x2-3)

(3) (2x,3y-2) (4) (2, 4y +12)

108. If T : R* = R? is a linear transformation and the nullity of T is 2 thég-thiaank of T is
T:R3 5 R e D crdonsesin So0ats T
(1) 0 q}@ﬂjn
(3) 2 4) 3

109. Which one of the following statements is True ? @
dod EStTos’ DB Sbgo?
(1) If m vectors span the subspace W of a ve

(3) An m dimensional vector s ,ﬁ'
ST m + | 203 ddrobovroin SO aotncd

afion on a finite dimensional vector space V then

2.5 50008 SOUNG B8 Yo V 2 T el DErd drdrobiditn oo, e
@ &V (2) Rank T = nullity of T
TS =T &rspe
> dim V (4) Rank T = nullity V
>V 38570 TS =V @t
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Which one of the following set of vectors is linearly dependent set?
dod Taé’ D 50¥0 3d DD S0 SNa?
(1) InR3, {(1,0,0), (0, 1,0),(1, 1, 1)}
R &, {(1,0,0),(0,1,0),(1,1, 1) %
_@/m R3, {(1,0,0), (0, 1,0), (0,0, 1), (1, 1, 1)} @
R &, {(1,0,0),(0,1,0),(0,0,1),(1, 1, 1)) @
(3) InR4, {(1,1,0,0),(0, 1, 1,0), (0, 0, 0, 3)}

RY &', ((1,1,0,0),(0,1,~1, 0, (0,0,0, 3)} @O
(4) {1, x, x (1 = x)}, in the space of all polynomials over R ®

R 3 ey uiscoo sobonod, {1, x,x (1 -x)}

The digit in the units place of the number 7777 is @

77777 &3 Soped’ 150 506" 6c3 (sosiin)

(1) 9 @) 3 @9 @1

Let T be the linear transformation on the > (F) defined by T (a, 5) = (a, 0). The matrix
of T relative to the standard ordered basis 1S

$OToB0¥o Vy (F) 2. T(a, b) = (a, 0 Srarostien T Hdosedod. V, (F) S8,
sl 5 ooy ssom T

1) [:;. ?] e @[.; z] o E g]

LetT:R2 5> R%bea wnsformation defined by T (xy, x3) = (¥} - xg, x| + 2x3). Then T maps
- 2 ) . .
a square with vertiegs 1, 0), (1, 1) and (0, 1) into

T &8 8 DR pSATTI00 T R2 - R2D T (x), 15) = () = Xp, %) + 2x5) 1 D50, eiiects (0, 0),

(1,0),(1,1) (0, 1) Scpoor KON SHos i, T 8068 Sangso 3ig0d.
(1 O (2) Rectangle
Bgsectige
lelogram (4) Rhombus
Sty PonButio (o))

[PT.O.
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115. For any field F, let T be lﬁnwapﬂumszdcﬁudbyT[n. b)=(a + b, a). Then T (a, b) =
b &0 F 3, F2 D e Diro 508 T 9, T (a, b) =(a + b, a) i g0, oo T~ (a, 8) =

@{b.n-b) (2) (b a+b) (3) (a a-b) (4) {n—&.%
116, A local maximum value of the function x° ~ 6x% + 9x + 15, is @

ooz x° - 6% + 9 + 15 o, .8 D A0 DS

(1) 15 @) 23 (19 {4}®

117. Which one of the following is a countable set ? W
4308 6" DB Neasdg; 5208 2 ®

M) [0, 1] @) R\Q -.@3@
118, ﬁm! SINX—COSX @
2
“B’ @ 1

(4) R

z .
@/ﬁ @) 2 5

1
@) 3

(2) Discontinuous only at x = 0
:-D:’aﬁ:&:‘@ﬁ:bﬂhﬁﬁa
(4) Discontinuous for all x € R

@6 x € R O Jpiin


INTERNET
Oval

INTERNET
Oval

INTERNET
Oval

INTERNET
Oval

INTERNET
Oval

INTERNET
Oval


www.eenadupratibha.net
27

121. LetI= (1,23, ..} If we define f(n) =n+ 7 and g (n) = 2 n for all n & I, then the range of
Jog 18 -
1= [I,E,S,HHI.@HEIE.f[n]-n+?w:»:g{n]-lnrrm&ﬁgﬂmﬁ,?ﬁ—.

@;9.11, 3,.) @ 191, Q) (14,1618, @ {12, u,%

122. Letf(x)=x, (0 <x < 1). Let P be a partition {u. -;--i i} of [0, 1]. Then U
f(x)=x, (0 £x <) sSome. [0, I]Cﬂmﬁbﬁm {ﬂ,%.%.l} o, P&Hﬁjﬂ
U(R.f)= ' @

| 2 K
M 3 @ < @i

ey ORI §
2 | @ - 1

n
124, }1agn+mn)dﬂ=
0 ;
(1) 31082 loge2  (4) wlog, 2
128, Iff(x) = (2 + 3x+ 1) g (x),2 _ i L—-E=3.thmf'{ﬂ}=

im 892 . 3 4008, exioptss f* (0) =

xr=0 X

(1) 2 @ 3) 8 @9
126. Iff(x)= 5 . then the numbers ¢ € (- 1, 1) which satisfy the equation
®

1) "{¢) are

22 woud, &5 [f(1) —/ (- 1)] = 2 (c) SDosberd 8y 3653, (- 1, 1) & &y

1l -5 CEIL

[PT.O.
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12. If  f(x)=4(3) forx<0
=2a+x forx 20,
is continuous at x = 0, then the value of a =
() =4(3), x<080
=2a+x, x2035,
63 Shoato x = 0 3¢ eDOYho wod, s a g, dess
()= (2) -2 (3) 1

128. If [x] denote the greatest integer less than or equal to x and n gz
x &' iSiro 8o x S0l 85 ey Yrgosed' MR Ygose

[T
G2 o

129, The domain of definition of the real valued fimetiv

V9-2x  Ssinx
el B s

9 7
(1) =2 @ 3 [1 5] (4) [1- ;)

130. Secx = @
¥ 3 3
i x x
]__ - ——+-—.;—u:1-
x DZJ) : @ x5t
() S E:..p.— I+E+—_+

x? ~ 15 = m (2x - 8) = 0, has equal roots then the values of m are
X~ 15— m (2x - 8) = 0, 5507 Sodretines: 50N doll, ey m s, Dessed

(2) 2,6 @3.5 4) 4,6
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, : Ja
132, Thchu_adnncequatlmwhm:mutsm Jasint is
i
g s o Saresooeon SHAS 56 Slostenio
bt -2ax +a=0 (2) b +2ax +a=0 @S

(3) a—2bx +b=0 (4) a +2%x+b=0
133, If one root of x> + bx + | = 0 is n times the other, then 5% =

2+ b+ 1 =0 oty 8 Sorosio 56008 n Dk sonsd ey b = @O

(n+1)? n+l 2
@ : @ = O T @7;—
134. ForallxeR,|x|= @
GIxeRD, |x|= @

@Max 58 @ Minf-xxg  0) @ -
o3 {- x, xj S =x x) @ -X
135. The number of local maxima of the function sin x is
0150 £ () = 1+ sin x oot 0

1) 0 @) | @ 2 @hﬁnﬂe{ﬁﬂo&ﬁ]
136. Projection of the line ssgment joj , 21) and (x3, 32, 23) On the x-axis, is

x-SR, (x), ¥y, 7)) S0050 (xa, 3 24) 08 $Bh s6earpotio dug), Jso

i
(1) (z2=2)+ (2 -y1) 40 ° @ |»n-nl
@U}-:]l (4) |x) + x|
137. If a straight li angle of 60° with each of X-axis and Y-axis then the angle made by it
with Z-axis is |,
&8 S0 Y-ag5008" 155,008’ 60° 5o Siigodd, eyt 6d Z-ufel' 3% S'mo
@w (3) 60° (4) 90°

ar distance, in proper units, from the origin to the plane 2x + 3y -6z + 7 =0, is
2¢ + 3y - 62 + 7 = 0 &3 S5B050550 Mo condNtiin, B oL,

I
©1 (3) 7 @ 3

[P.T.O.
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139, ﬂmpuhﬂﬂfi:ﬂﬂ'mimnfﬂnmmle=y_+ls==3 and XOZ plane is
I “'T ’;]mmzmﬁcsam
‘@ -5, u -8) (2) (-5,0,8) (3) (5,0,-8) @ (5,0,8 %
140. The distance, in proper unils, between the planes x — 2y + 2z - 8 = 0 and 6y - s
x=2y+2z-8 =0 0ako 6y~ Ix—62= ﬂuﬁm:umcs;m
(1 3 (2) 6 @O
141. The centre of the circle : .tz+y2 = 'J.'r+y+:-31n
P+ d=0x+y+2=3 &S 5Esn dos, s @
(1, 1, 1) (2 (1,0,2) (3 Q Qb “ ©1,2)
142, The angle between the planes; x + y +z - 6 =0 and I1=0is
x+y+z -6=0500cox+y+z+11=0
(1) 30° @ (4) 90°
gy
5 -
143. If the lines ~ 3 = ét ’_ intersect at right angle, then the
value of k = Q-Q ™N/
::; =X 2;1_ "';3 :aﬁﬂ%f I5 S 56 8o eovor (B8:5'0308")
Mﬂmt%‘—/
o -10
5’ @ -5
=
\ %)\ (4) ?
_ .
@'F}lh:quabﬁceqmmx_l'l' = 'Em
5
=5qumm

() -2and | @/zm-i (4) -2and - |
-2 Sobaiw | 2 Sobolw -1 -2 Sobao ~ |
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145. Thnmuunfﬂ:uquaﬁun:kz-lh+9-ﬂ.m
4 - 12x+ 9 = 0 3080050 o, Saresoes

(1) Rational and unequal Rational and equal
esciahEnes ool eEr st mmm%
(3) Irrationals (4) Imaginary @

Sedotines S50 @
146. 1f one root of 5x% + 13x + K = 0, is reciprocal to another, then the value of K i

Sx2 + 130+ K = 0 6ot 2.8 Sareiin, So8%amedd it 5050 sand,

(1) 4 @) 13 @’s

147. If c and B are the roots of ax® + bx + ¢ = 0 then the vah
u:‘-ﬂoiuﬂmmj+h+cﬂﬂ.m:imm‘ e

a=-b+c a-b-c¢
\@u Q=

148, The function f(x) =x* - 6x + Sis an i
[(x)=x 6+ § & (oot eE

(1) (-, =) @) (- 1,3) @’{3. )

149. If @ and B are the roots of the ec
and (a + B)?, is
xz+p.t+q-ﬂufl
(@+B) o sre ST,

(1) 2 +2(p% - 29) 54 oS @) 2 +2(P-29)x~p* (4g+pP) =0

@) L~ (p? -2 x+p* (PP -4g)=0

which passes through the mid point of the line AB joining A (- 2, 5, 1) and

d parpendicular to AB, i
3o B (6, 1, 5) 055 505 15t AB clhos), Sok; Doty fhoer 460 sdasy AB £

O AEioBetn Alaog), SRsteRs
(2) x-y+z==4 (3) x=3Iy+z=5 (4 x-dy+2u=5§

[RT.O.
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